








( [ args) {
S1=

S2 =

.out.printin(

SR

m = S1.length();

n = S2.length();

(0 dp = [m + 1][n + 1;
(inti=0;i<=m;i++) {

(intj=0;j<=n;j++) {

(i==0]lj==0){
dpli]lil = 0;
} (S1.charAt(i — 1) == S2.charAt(j — 1)) {
dpli]lil = dpfi — 1] — 1] + 1;
} {
dpli]li] = .max(dp[i — 1][], dp[illi — 11);
}
}
}
lcs = new StringBuilder();
i=m,j=n;
(i>0&&j>0){

(S1.charAt(i — 1) == S2.charAt(j — 1)) {
Ics.insert(0, S1.charAt(i — 1));
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} (dpfi — 1101 > dpi][i — 11) {

=

}else {

Ics = longestCommonSubsequence(S1, S2);

+ Ics);
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